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QUESTION 1

Given the code fragment:

public static void main (String[] args) |
Strdineg abr = Wy
5 vl W s P o 1 O
3ystem.out.printlnistr.equals ("") +

" "4 gbr.isEmpty() )
What is the result?

A. true true

B. true false

C. false false

D. false true

Correct Answer: C

QUESTION 2

Given the code fragment:

What is the result?

A. Found Red Found Default

B. Found Teal

C. Found Red Found Blue Found Teal



D. Found Red Found Blue Found Teal Found Default

E. Found Default

Correct Answer: B

QUESTION 3

Given the code fragments: What is the result?

public static void main (String [ ] args)
int [] stack = {10,20,30};
int size = 3;
inti dx = 0;
/*line nl */

System.out.print (“The Top element:

A. Compilation fails only at line n2.

B. RTool::export Tool::export

C. Tool::export Tool:export

D. Compilation fails only at line n1.

E. Compilation fails at both line n1 and line n2.

Correct Answer: E

rr

+ stack

[1dx]

) T

QUESTION 4

Given: What is the result?



Person.java;

pukl-c cla=s=s Parson |
String nams;
nt age;

public Person (8tring n, int a) |
name = n;
age = a;

t

public String getName () |
refturn nams;
'

public int getage () {
return age;
'
1

Test. java:

publ-c static void checkhAge (List<Person> list, Predicate<Person> predicaze)

for (Person p : list) |
if (pradicate.testi(p)) |
System.out.printlnip.name + " ") ;
i
'
1
publ_c static wveoid main(Stringl[] args) |
List<Perscn> iList = Arrays.aslList (hew Person("Hank", 45),
new Perzon("Charlie", 400,
new Perzon("Swith™, 38)):

//line nl

A.3456

B.3436

C.5456

D.3646

Correct Answer: C

{

QUESTION 5

Given the following code for a Planet object:



public class Planet |
public String name;
public int moons:

public Planet (String name, int moons)
this.name = name;
this.moons = moohs;

1
And -he following main method:

public static wveilid main(String[] args) {
Planet[] planets = {
new Planet ("Mercury™, 0,
new Planet ( "Venus", 01,
new Planet ("Earth", 1),
new Planet ({"Mars", 2]
i

Systen.out.printlniplanets);

Bystem.out.printlniplanet=z[2]);

Syvsten.out.printlniplanetz[2] .moons) ;
}

What is the output?

© A) planets
Earth
1

© B) [LPlanets. Planet; @15db9742
Earth
1,

" C) [LPlanets. Planset; @15d4b9742
Nlanctos. Dlanct@edladada
1

¢ D) [LPlanets. Planet ; @15dh9742
Flanets. Planetidfgdisdadc
[LPlanets.Moon; 7852922

© E) [LDlancto. Dlanct; @15db3742
Wenus
o



A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: B

QUESTION 6

Given:

1. public class Whizlabs {

.
3. public static void main(String[] args) {
4, String s = "A";
5.
6. switch (s) {
7 case 'a’:
8. System.out.print{ simaple A °);
9. default:
10. System.out.print( default °);
il1. case A’:
12. System.out.print{"Capital A 7);
15, 1
14, 1
15.}

Which code fragment, when inserted at line 7, enables the code print true?



1. public class Whizlabs{

2.
B public static void main(String[] args){
4. tryf
5. Double number = DoublevalueOf("120D7);
6. Jcaauch(NumberFormatException ex){
7 i
8. System.outprintin(number);
9. 1
10. }
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 7

Given the code fragment: What is the result?

public clazs Epp {
public statie volid main(String[] arga} {
int 1 = 10;
int 3 = 20;
int k=3 +—= 1i [/ 5;
System.out.print{i + ™ @ ® + 3 + ™ ¢ " +X);

A.3
B. 4
C.-1
D. Compilation fails.

Correct Answer: C

QUESTION 8



Which two actions will improve the encapsulation of a class?

A. Changing the access modifier of a field from public to private

B. Removing the public modifier from a class declaration

C. Changing the return type of a method to void

D. Returning a copy of the contents of an array or ArrayList instead of a direct reference
Correct Answer: AD

Reference: http://www.tutorialspoint.com/javal/java_access_modifiers.htm

QUESTION 9

Which of the following exception will be thrown due to the statement given here?

int array[] = new int[-2];

A. NullPointerException

B. NegativeArraySizeException

C. ArraylndexOutOfBoundsException

D. IndexOutOfBoundsException

E. This statement does not cause any exception.

Correct Answer: B

In given statement we can see that, we have passed negative value for creating int array, which results a
NegativeArraySize Except ion. Hence option B is correct. Option A is incorrect as it is thrown when an application
attempts to use null in a case where an object is required. Option D is incorrect as IndexOutOfBoundsException thrown

to indicate that an index of some sort (such as to an array, to a string, or to a vector) is out of range. REFERENCE
rhttpy/docs.oracle.com/iavase/S/docs/api/java/lang/NegativeArraySizeException.html

QUESTION 10

Given:



public class Tesz |
public static vold main(Stringl[] args)
Jiline nl
switch (&) |
caze 1:
3vstem. out.println("One™) ;
oreal;
caze 2

3vetem.out.println("Twc™) ;
arealk:

}

What is the result?

A.2468

B

.24689

C.1357

D

.13579

Correct Answer: D

QUESTION 11

Given the code fragments:

B.

C.

Replace line nl with:
import pl. A;

Replace line n2 with:
import pl.*;

Replace line nl with:
import pl. A:;

Replace line n2 with:
import pl. A:;

import pl. p2.B ;

Replace line nl with:
import pl:

Replace line n2 with:
import pil:|

import pl. p2:



Which modification enables the code to compile?

class A {
public veoid test () {
System.out.println (“A"):

}
class B extends A {
public wvoid test () {
System.out.println (“B”);

}
public class C extends A |

public woid test () {
System.out.println (“C");

public static void main (String [] args)
A bl =new A ():
A b2 =new C ():
bl = (A) bZ; //line nl
A b3 = (B) b2; //1line n2
bl.test ()
b3.test ():

{



public class SumTest |

public static wvoid doSum(Integer =, Integer vy |
System.out.println("Integer sum iz " 4+ (x + v));
}

public static wvoid doSum(double =, double w) |
System.out.println("double =2um iz " + (x + v));:
1

public static void doSumi(float =, float v) |
System.out.println("fleat =zum iz " + (X + v));
}

public static void doSumiint =, int v) |
System.out.println("int sum iz " 4+ (x + v)):
}

public static void main(Stringl[] args) |
doSum (10, Z0);
doSum (10,0, Z20.0%;

C.D.

Correct Answer: C

QUESTION 12

Given: What is the result?



publ-c =lass Product |
.oy o B
3tring name;
sublic Productiint id, String name) {
thoelag e 1l
this.name = name;

}

And given the code fragment:

4, Product pl = new Product (101, "Pen");
5. Product pZ = new Product (101, "Pen") ;
B. Product p3 = pl;
7. boclean ansl = pl == pi;
B. boolean ans:Z = pl.name.equals (pZ.name) ;
9., System.out.print (ansl + ":" + ans2);

A. true:true

B. true:false

C. false:true

D. false:false

Correct Answer: C
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